Unit 1-Unit 3	                                                      EOCT Review                                    CC GPS Coordinate Algebra 
[bookmark: _GoBack]1.  A rectangle has an area of 12 m2 and a width of 400 cm. What is the length of the rectangle?

A. 3 cm
B. 30 cm
C. 300 cm
D. 3000 cm

2. What is the area of a circle with a circumference of 43.98226 inches? (Use 3.14159 for π.)

A. 153.44029 in.2
B. 153.93791 in.2
C. 153.9325 in.2
D. 153.9394 in.2

3.  The tension caused by a wave moving along a string is found using the formula


T = mv2
       		        L      
If m is the mass of the string in grams, L is the length of the string in
centimeters, and v is the velocity of the wave in centimeters per second, what is the unit
of the tension of the string, T?

A. gram-centimeters per second squared
B. centimeters per second squared
C. grams per centimeter-second squared
D. centimeters squared per second

4.  The kinetic energy of an object in motion is found using the formula: KE = ½mv2, where
m is the mass of the object in kilograms and v is the velocity of the object in meters per
second. If the velocity of the object is 20 meters per second, what is the coefficient of m?

A. 10 meters/second
B. 20 meters/second
C. 200 meters squared/second squared
D. 400 meters squared/second squared

5.  A certain population of bacteria has a growth rate of 0.02 bacteria/hour. The formula for the growth of the bacteria’s population is       A  = Po (2.71828).02t   where Po is the original population and t is the time in hours.  If you begin with 200 bacteria, approximately how many of the bacteria can you expect after 100 hours?

A. 7.38905
B. 271.828
C. 1477.81
D. 20,000

6. Two angles of a triangle measure 20° and 50°. What is the measure of the third angle?

A. 30°
B. 70°
C. 110°
D. 160°

7.  What is the solution to the equation P = 2l + 2w when solved for w?

A. w = 2l
             P

B. w = 2l- P
              2

C. w = 2l - P
                   2

D. w = P - 2l
                2


8.  Bruce owns a business that produces widgets. He must bring in more in revenue than he pays out in costs in order to turn a profit.

• It costs $10 in labor and materials to make each of his widgets.
• His rent each month for his factory is $4000.
• He sells each widget for $25.

 How many widgets does Bruce need to sell each month to make the minimum profit?
A. 160
B. 260
C. 267
D. 400

9.  Emily wants to solve the equation ax – w = 3 for w. Which equation shows the results of a correctly applied strategy?

A. w = ax – 3
B. w = ax + 3
C. w = 3 – ax
D. w = 3 + ax


10.  Which equation is equivalent to ?
A. 17x = 88
B. 11x = 88
C. 4x = 44
D. 2x = 44


11.  Which equation is equivalent to 4n=2(t−3) when solved for t?



A.  

B.     

C.  
D. t = 4n−3

12.  Which equation is equivalent to 6(x + 4) = 2(y + 5) when solved for y?
A. y = x + 3
B. y = x + 5
C. y = 3x + 7
D. y = 3x + 17

13.  This equation can be used to find h, the number of hours it takes Flo and Bryan to mow their lawn.


How many hours will it take them?
A. 6
B. 3
C. 2
D. 1

14.  A ferry boat carries passengers back and forth between two communities on the Peachville River.

• It takes 30 minutes longer for the ferry to make the trip upstream than downstream.
• The ferry’s average speed in still water is 15 miles per hour.
• The river’s current is usually 5 miles per hour.

This equation can be used to determine how many miles apart the two communities are.



What is m, the distance between communities?

A. 0.5 miles
B. 5 miles
C. 10 miles
D. 15 miles



15.  Which expression represents all values of x for which the inequality    > 1 is true?
A. x < 1
B. x > 1
C. x < 5
D. x > 5

16.  A manager is comparing the cost of buying ball caps with the company emblem from two different companies.
• Company X charges a $50 fee plus $7 per cap.
• Company Y charges a $30 fee plus $9 per cap.
For what number of ball caps will the manager’s cost be the same for both companies?

A. 10 caps
B. 20 caps
C. 40 caps
D. 100 caps

17.  A shop sells one-pound bags of peanuts for $2 and three-pound bags of peanuts for $5.  If 9 bags are purchased for a total cost of $36, how many three-pound bags were purchased?

A. 3
B. 6
C. 9
D. 18

18.  Which graph would represent a system of linear equations that has multiple common coordinate pairs?
A[image: ] B[image: ]
C[image: ] D[image: ]



19.  Which graph represents the solution to x > 3?

A. [image: ]
B. [image: ]
C. [image: ]
D. [image: ]]


20.  Which pair of inequalities is shown in the graph?
[image: ]

A. y > –x + 1 and y > x – 5
B. y > x + 1 and y > x – 5
C. y > –x + 1 and y > –x – 5
D. y > x + 1 and y > –x – 5

21.  Which equation corresponds to the graph shown?
[image: ]
A. y = x + 1
B. y = 2x + 1
C. y = x – 2
D. y = 3x

22.  Which equation corresponds to the points in the coordinate plane?
[image: ]

A. y = 2x – 1
B. y = x – 3
C. y = x + 1
D. y = x – 1

23.  Given the sequence:  -1, 1, 3, 5, 7, ….
Which function represents the sequence?

A. n + 1
B. n + 2
C. 2n – 1
D. 2n – 3

24.  Which function is modeled in this table?  
	x
	f(x)

	1
	8

	2
	11

	3
	14

	4
	17



A. f(x) = x + 7
B. f(x) = x + 9
C. f(x) = 2x + 5
D. f(x) = 3x + 5

25.  Which explicit formula describes the pattern in this table?
	d
	C

	2
	6.28

	3
	9.42

	5
	15.70

	10
	31.40




A. d = 3.14 × C
B. 3.14 × C = d
C. 31.4 × 10 = C
D. C = 3.14 × d

26.   If f(12) = 4(12) – 20, which function gives f(x)?

A. f(x) = 4x
B. f(x) = 12x
C. f(x) = 4x – 20
D. f(x) = 12x – 20

27.   A farmer owns a horse that can continuously run an average of 8 miles an hour for up to 6 hours. Let y be the distance the horse can travel for a given x amount of time in hours. The horse’s progress can be modeled by a function.  Which of the following describes the domain of the function?

A. 0 ≤ x ≤ 6
B. 0 ≤ y ≤ 6
C. 0 ≤ x ≤ 48
D. 0 ≤ y ≤ 48

28.   A population of squirrels doubles every year. Initially there were 5 squirrels. A biologist studying the squirrels created a function to model their population growth, P(t) = 5(2t) where t is time. The graph of the function is shown. What is the range of the function?
[image: ]

A. any real number
B. any whole number greater than 0
C. any whole number greater than 5
D. any whole number greater than or equal to 5

29.  The function graphed on this coordinate grid shows y, the height of a dropped ball in feet after its xth bounce.
On which bounce was the height of the ball 10 feet?
[image: ]

A. bounce 1
B. bounce 2
C. bounce 3
D. bounce 4

30.   To rent a canoe, the cost is $3 for the oars and life preserver, plus $5 an hour for the canoe. Which graph models the cost of renting a canoe?
A[image: ] B[image: ]
C[image: ] D[image: ]

31.  Juan and Patti decided to see who could read the most books in a month. They began to keep track after Patti had already read 5 books that month. This graph shows the number of books Patti read for the next 10 days.  If Juan has read no books before the fourth day of the month and he reads at the same rate as Patti, how many books will he have read by day 12?
[image: ]
A. 5
B. 10
C. 15
D. 20

32.  Which function represents this sequence?
	n
	1
	2
	3
	4
	5
	…

	an
	6
	18
	54
	162
	486
	…



A. f(n) = 3n – 1
B. f(n) = 6n – 1
C. f(n) = 3(6n – 1)
D. f(n) = 6(3n – 1)

33.  The first term in this sequence is 3.

	n
	1
	2
	3
	4
	5
	…

	an
	3
	10
	17
	24
	31
	…




Which function represents the sequence?
A. f(n) = n + 3
B. f(n) = 7n – 4
C. f(n) = 3n + 7
D. f(n) = n + 7

34.  The points (0, 1), (1, 5), (2, 25), (3, 125) are on the graph of a function. Which equation represents that function?

A. f(x) = 2x
B. f(x) = 3x
C. f(x) = 4x
D. f(x) = 5x

35.  The graph of a function is shown on this coordinate plane.  Which statement best describes the behavior of the function within the interval   x =−3 to x = 0?
[image: ]
A. From left to right, the function rises only.
B. From left to right, the function falls and then rises.
C. From left to right, the function rises and then falls.
D. From left to right, the function falls, rises, and then falls.

36.  A function g is an odd function. If g(–3) = 4, which of the points lie on the graph of g?

A. (3, –4)
B. (–3, –4)
C. (4, –3)
D. (–4, 3)

37.  Which statement is true about the function f (x)=7?

A. The function is odd because –f(x) = –f(x).
B. The function is even because –f(x) = f(–x).
C. The function is odd because f(x) = f(–x).
D. The function is even because f(x) = f(–x).

38.  Which scatter plot represents a model of linear growth?
A[image: ] [image: ]B

C[image: ] D[image: ]


39.  Which scatter plot best represents a model of exponential growth?
A[image: ] B[image: ]
C[image: ] D[image: ]

40.  Which table represents a function with a variable growth rate?
A.   
	X
	0
	1
	2
	3
	4

	y
	5
	6
	7
	8
	9



B. 
	x
	0
	1
	2
	3
	4

	y
	0
	22
	44
	66
	88




C.
	x
	0
	1
	2
	3
	4

	y
	5
	13
	21
	29
	37



D. 
	x
	0
	1
	2
	3
	4

	y
	0
	3
	9
	27
	81




41.  If the parent function is f(x) = mx + b, what is the value of the parameter m for the curve passing through the points (–2, 7) and (4, 3)?

A. −9

B.  
c. -2

D. 
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